

Scratch

October 20, 2017 3:57 PM

$$f(t+1) - f(t) - \partial_x^2 f = g(t)$$

$$e^{(t-2a\epsilon)h} + h (e^z g[z, -1+a] - (e^{z+\epsilon h} + t - 2a\epsilon) g[z, a] + (-t + \epsilon + 2a\epsilon) g^{(1,0)}[z, a] + \epsilon g^{(2,0)}[z, a]) = 1$$

$$f(t+1) - f(t) = e^{\epsilon t}$$

$$e^{\epsilon(t+1)} - e^{\epsilon t} =$$

$$f = \frac{1}{\epsilon - 1} e^{\epsilon t}$$

$$e^{\epsilon t} (e^\epsilon - 1)$$

$$\binom{a}{k} := \frac{a(a-1)\dots(a-k+1)}{k!} \quad \text{satisfies } \binom{a}{k} - \binom{a-1}{k} = \binom{a-1}{k-1}$$

$$a_k := a(a-1)\dots(a-k+1) \quad \text{satisfies } \int_2 a_k = k a_{k-1}$$

Q. What's the kernel of

$$\int_x f + \partial_y f = f(x+1, y) - f(x, y) + \partial_y f(x, y) \quad ?$$

$$(\partial_x + \partial_y) (x-y)^n = \sum_{k=0}^n (-1)^k \binom{n}{k} x^k y^{n-k} \left(\frac{k}{x} + \frac{n-k}{y} \right)$$

$$\sum_{k=0}^n \binom{n}{k} x^k y^{n-k} // \int_x - \partial_y = \sum_{k=0}^n \binom{n}{k} \left[k x_{k-1} y^{n-k} - (n-k) x_k y^{n-k-1} \right]$$

$$\sum_{k=0}^n \binom{n}{k} x^k y^{n-k} =$$

$$\sum_{j=0}^k \binom{x}{j} \frac{y^j}{(n-j)!} = \sum_{j=0}^k \frac{x(x-1)\dots(x-j+1) y^j}{j! (n-j)!}$$

$$\sum_{j=0}^x \binom{x}{j} \frac{y^j}{(n-j)!} = \sum_{j=0}^x \frac{x(x-1)\dots(x-j+1)j^j}{j!(n-j)!}$$

Aside $x_k = \lambda^{k-x} (\partial_x)^k \lambda^x$